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> RBN2

call: glm.nb(formula = Y ~ X1 + X3, data = BN, init.theta = 760115.1174,

Tink = log)

Coefficients:

(zntercept) x1 x3
-0.665410  0.006171  0.027815

Degrees of Freedom: § Total (i.e. Nul1); 6 Residual
NuTl Deviance: 20.2

Residual Deviance: 2.964 ATC: 51.59

>
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> #MEMANGGIL DATA

> BN <- read.csv("E:/artikel Bulan Maret/DATA ARTIKEL.cSV", Se
> vien(sn)

> str(eN) .

‘data.frame’: 9 obs. of 5 variables:

Sy :dint 13712 27 131812 24 13

$ x1: int 145 104 69 204 140 139 135 220 108
$ X2: num 3.651.7 4.8 3 5.8 2.52.715.8
$ X3: num 84.9 88.4 90.5 93.8 82.2 98 81.6 91.7 90.3
S x4: int 5515 6444 5058 7218 3624 4362 4680 6929 5076
> attach(sn)
> #Uji Multikolinearitas
> Tibrary(car)
Loading required package: carpata
> Vif(Im(Y~X1+X2+X3+X4 , data=sn))
X1 x2 x3 x4
1.489335 1.754166 1.164098 1.887712
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> #REGRESI POISSON
> RP=gIm(Y~X1+X2+X3+X4, data=BN, Fanily=poisson)
> summary ()

call:
gIm(formula

=Y ~Xl+X2+ X3+ x4, family = poisson, data = BN)

Deviance Residuals:

1

-0.05788 -0.74132

°
-0.29884

coefficients:

(xntercept)
X1
x2
x3
xa

signif. codes: 0 twes’

2

3 4 H 6 7

0.71352  0.14919 -0.29801 -0.08089  0.51792

Estimate std. Error z value Pr(>|z|)

EN
7.
7.
3.

ER

625€+00
832e-03
674e-02
304e-02
6562-05

1
2
7.
1
1

o.

(oispersion parameter for

Null deviance: 20.204

Residual deviance:

AIC: 52.166

1538

.763e+00 -0.921 0.35680
.623e-03  2.986 0.00283 **
104e-02  1.080 0.28004
844e-02  1.841 0.06564 .
[002e-04 -0.165 0.86878

001 *#%7 0.01 **’ 0.05 ‘.’ 0.1 ° ' 1
poisson family taken to be 1)

on 8 degrees of freedom
on 4 degrees of freedom

5
0.02801
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> #OVERDISPERSI
> rd<-gIn(Y ~ 1, data = BN, family
>rd

poisson)

call: gim(formula = v ~ 1, family = poisson, data = BN

Coefficients:
(zntercept)
2.737

Degrees of Freedom: 8 Total (i.e. Null); 8 Residua
NuTl Deviance 20.2

Residual Deviance: 20.2 ALC: 62.83

> Tlibrary(AErR)

Loading required package: Imtest

Loading required package: zo0

Attaching package: ‘zoo’

The following objects are masked from ‘package:base
as.pate, as.Date.nuneric
Loading required package: sandwich

Loading required package: surviva
> dispersiontest(rd,trafo-1,alternative=

“greater))
overdispersion test

data: rd
2z = 1.4766, p-value = 0.06989
alternative hypothesis: true alpha is greater than 0
sample estimates:
alpha
1.346922
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#MODEL BINOMIAL NEGATIF TIDAK LENGKAP
Tibrary (MAsS)

REN1=g1m. nb(Y~1,data=sN)

RENL

vvvy

call: glm.nb(formula = Y ~ 1, data = BN, init.theta = 12.37406329,

Tink = log)

Coefficients:
(zntercept)
2.737

Degrees of Freedom: § Total (i.e. Null); 8 Residual
NuTl Deviance: 8.907

Residual Deviance: 8.907 AIC: 60.69

> summary (REN1)

call:

glm.nb(formula = v ~ 1, data = BN, init.theta = 12.37406329,

Tink = log)

Deviance Residuals:
win 19 Median 3Q max
-1.7144 -0.6224 -0.4333  0.4164 1.6752

coefficients:
estinate std. Error z value Pr(>|z|)
(Intercept)  2.7372  0.1272 21.52 <2e-16 ***

signif. codes: 0 *¥**’ 0.001 ‘*%’ 0.01 ‘*’ 0.05 *

(oispersion parameter for Negative sinomial(12.3741) family taken to be 1)

Null deviance: 8.9074 on 8 degrees of freedom
Residual deviance: 8.9074 on 8 degrees of freedom
AIC: 60.693
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Number of Fisher Scoring iterations: 1

Theta: 12.4
std. Err.: 10,4

2 x Tog-likelihood: -56.693

> #Mode] BINOMIAL NEGATIF

> RBN=g1m. nb (Y~X1+X2+X3+X4 , data=BN)

warning messages :

1: In theta.ml(y, mu, sun(w), w, limit = controlsmaxit, trace = controlstrace >
iteration Timit reached

2: In theta.ml(Y, mu, sum(w), w, 1imit = control$maxit, trace = controlstrace >
iteration Timit reached

> REN

call: glmnb(formula = Y ~ X1 + X2 + X3 + X4, data = BN, init.theta = 1115073.994,
Tink = log)

Coefficients:
(zntercept) x1 x2 x3 xa
-1.625e:00  7.832e-03  7.674e-02  3.3%4e-02 -1.656e-05

Degrees of Freedom: § Total (i.e. Nul1); 4 Residual
NuTl Deviance: 20.2

Residual Deviance: 1.538 ATC: 54.17
> summary (REN)
call:
glm.nb(formula = v ~ XL + X2 + X3 + X4, data = BN, init.theta = 1115073.994,

Tink = log)
peviance Residuals:

1 2 3 4 5 6 7 8

-0.05788 -0.74132 0.71352 0.14919 -0.29801 -0.08089 0.51792  0.02801

°
-0.29884
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Coefficients:
estinate std. Error z value Pr(>|z|)
(Intercept) -1.625e+00 1.763e:00 -0.921 0.35681
X1 7.832e-03 2.623e-03  2.986 0.00283 **
x2 7.674e-02 7.104e-02 1.080 0.28004
x3 3.394e-02 1.844e-02 1.841 0.06564 .
xa -1.656e-05 1.002e-04 -0.165 0.86878

signif. codes: 0 **¥¥’ 0,001 ‘**’ 0.01 **’ 0.05 *.’ 0.1 ‘' 1
(pispersion parameter for Negative sinomial(1115074) family taken to be 1
Null deviance: 20.204 on 8 degrees of freedom
Residual deviance: 1.538 on 4 degrees of freedom
AIC: 54.166
Number of Fisher Scoring iterations: 1
Theta: 1115074

std. Err.: 57808235
warning while fitting theta: iteration limit reached

2 x Tog-Tikelihood: -42.166

> #UIT_SIMULTAN

> simultan=-42.166-(-56.693)

> simultan

[1] 14.527

> #MODEL YG DIINTERPRETAST

> #Model BINOMIAL NEGATIF

> RBN2=g1m. nb (Y~X1+X3, dat

warning messages

1: In theta.ml(y, mu, sunGw), w, limit
iteration Timit reached

2: In theta.ml(y, mu, sum(w), w, Timit
iteration limit reached

N)

control$maxit, trace = control$trace >

controlsmaxit, trace = control$trace >




